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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 1609 8.6 2.6 15 57.5 100
2 1608 5.3 1.9 10 53.2 99.9
3 1604 4.5 2.1 10 45.1 99.7
4 1609 12.7 3.5 25 50.7 100
5 1605 4.1 2 10 41 99.8
6 1607 4.7 2.5 15 31.5 99.9
7 1608 8.3 3.4 20 41.3 99.9
8 1597 3.6 2.2 15 23.8 99.3
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Line

Line

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.

Line
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Section B

Marked out of 60          60 minutes

5.	 This question is about Commercial Manufacturing Processes. It is worth a total of 10 marks.

	 (a)	 The picture below shows a length of material being made on an industrial machine.   
Underline the correct name for the machine.	 [1]

© WJEC CBAC Ltd.

Knitting machine  /  Industrial loom

	 (b)	 (i)	 Complete the table below by adding a description of each of the production methods 
used in the textile industry.

	 (ii)	 Describe one advantage of one-off production for the customer.	 [2]

	

	

Production method Description

Mass production

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .    [2]

Batch production

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .    [2]
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	 (c)	 A manufacturing specification contains all the technical details needed to manufacture a 

product.

		  Describe one piece of information that would be found on a manufacturing specification 
and explain its importance to the manufacturer.	 [3]

	

	

	

	

	

© WJEC CBAC Ltd.







Sticky Note
Candidate has indicated some knowledge regarding scale of production. For the additional mark the candidate could have made reference to any of the following: a shorter manufacturing time, possible seasonal ranges; designer ranges; more complex products.

Sticky Note
Candidate has demonstrated some understanding of scale for one mark. For the additional mark the candidate would need to indicate either all items are identical or produced continuously over a long period of time.



Sticky Note
The candidate does not understand the question. The manufacturing specification lists all the technical details needed for manufacturing to proceed successfully. Exemplar answer for 3 marks: all the tools and equipment needed to manufacture the item should be listed so that the manufacturer can plan ahead and organise the factory prior to production.
 







Sticky Note
The answer shows good understanding and is sufficient for one mark. An indication of quantities being smaller would have been credited with the extra mark.

Sticky Note
Some understanding of scale (1 mark) but insufficient detail for two marks. Candidate could have indicated a time scale for the extra mark e.g. continuous production.



Sticky Note
A satisfactory answer overall however the importance of this information to the manufacturer has not been fully explained.
The wider implications of pattern pieces not fitting together in a factory have not been fully addressed.







Sticky Note
The answer is correct but not sufficiently detailed for two marks. Any of the following would have been credited for the additional mark: made to fit the customer; customer could have input into the design; status symbol for customer.

Sticky Note
A slightly vague answer but some understanding regarding a time scale. The candidate could have indicated 'seasonal' or 'designer' ranges or been more specific regarding quantity for an extra mark.

Sticky Note
A good basic answer but not sufficiently detailed for two marks. If the candidate had referred to identical items or given an indication of quantity then the additional mark could have been awarded.



Sticky Note
A correct answer but the explanation is limited therefore only worth two marks. The candidate has not stated in sufficient detail the impact for the manufacturer. In other words - what difference would a change in the size mean for the manufacturer? 
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6.	 This question is about Materials and Components. It is worth a total of 15 marks.

	 (a)	 (i)	 Textile fibres are natural, synthetic or regenerated.
			   Place a tick (√) in the table below to show the correct fibre source for each of the 

materials listed.	 [4]

© WJEC CBAC Ltd.

Natural Synthetic Regenerated

Acetate

Polyester

Jute

Elastane

	 (ii)	 Give one reason why fibres are blended when making yarns.	 [1]

	

	 (iii)	 Name one fibre blend that uses both natural and synthetic fibres and is commonly   
used throughout textiles.	 [1]

		  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

	 (b)	 The table below shows two textile products and the name of the material each is made 
from.

		  State a property of each material and give a reason why this property makes the material 
suitable for that product.

Product Explanation of named property

(i)
Material:  Nylon

Property:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  [1]

Reason:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  [1]

(ii)
Material:  Neoprene

Property:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  [1]

Reason:  . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  [1]
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	 (c)	 (i)	 Explain what is meant by the term ‘geotextiles’.	 [2]

	

	

	

	 (ii)	 Describe the benefits of micro-encapsulation when used in medical textiles.	 [3]

	

	

	

	

	

© WJEC CBAC Ltd.







Sticky Note
An incorrect response. There are a number of acceptable answers for example polyester and cotton, wool and acrylic.

jenkir
Sticky Note
Correct answers include: to improve the yarn by combining the properties of both; or to reduce the cost of the yarn. Whilst blending fibres can make yarns stronger and thicker this is not the case in every fibre blend and therefore incorrect.

Sticky Note
A basic error in this response. Jute is natural. Knowledge regarding the classification of fibres is often weak.



Sticky Note
The response to this question was generally quite poor. Many candidates did not attempt an answer. Exemplar answer for 3 marks: antibacterial or medicinal chemicals encapsulated into bandages for example, are slowly released over time to help the healing process. It also reduces the need to keep changing dressings which could prevent further infections. There are three clear points made in the answer which would gain the maximum marks available.

Sticky Note
The term 'geotextiles' was generally not known. This candidate has demonstrated some knowledge, sufficient for one mark. For the additional mark the candidate would need to develop the response to include reference to: specially developed woven or bonded materials for use in road construction, civil engineering etc; or developed for use in agriculture as an aid to drainage or crop protection.







Sticky Note
Many candidates did not attempt this part question. Acceptable answers include: tough, flexible, padded/rubber. All of these would offer some protection for a laptop in the case.

Sticky Note
The main properties of nylon include strength, resistance to wear, lightweight; all essential in a product such as a tent. It is only waterproof if it has been treated as such i.e. proofed nylon. This question was set to test candidates' knowledge of material properties. Knowledge of materials is generally quite poor.









Sticky Note
A short sentence is required to give a full reason  for one mark. In general terms fibres are blended to improve the properties of yarns by combining properties from different fibres; this can also be done to reduce the costs of yarns. The question does not ask for a specific example as this does not apply to all blends.

Sticky Note
The first part of each question is meant to be accessible to all candidates. Few candidates achieved full marks. Specialist knowledge of materials is lacking in many candidates. Acetate is regenerated; Elastane is synthetic.



Sticky Note
The candidate understands the term micro-encapsulation and its use in medical  textiles but the answer lacks the detail needed for three marks. Slow release of antiseptics reduces the need to change dressings which in turn cuts down infections. The slow release of antiseptics also helps the healing process. More detail is needed in answer for maximum marks to be awarded.

Sticky Note
An incorrect response! The term 'geotextiles' was generally not known. Some candidates had some knowledge of civil engineering/road construction which were credited with a mark. 
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8.	 This question is about ICT, CAD, CAM, Systems and Processes. It is worth a total of 15 marks.

	 (a)	 (i)	 State the full meaning of the following abbreviated terms.	 [2]

		  CAM:	 Computer	 A . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . M . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

		  CIM:	 Computer	 I . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .  M . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

	 (ii)	 Information Communication Technology (ICT) can be used throughout the 
development of new ideas.

		  List three ways ICT can be used to model new ideas.	 [3]

	 I	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

	 II	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

	 III	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .

	 (iii)	 Explain how the internet has made it easier for designers to research themes for 
new collections.	 [2]
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	 (c)	 (i)	 Explain in detail the impact laser cutters have had when designing and making 
textile products.	 [3]

	

	

	

	

	 (ii)	 Describe the limitations associated with the use of a laser cutter when making 
textile products.	 [2]

	

	

	

END OF PAPER

© WJEC CBAC Ltd.

	 (b)	 Study the pictures below which have been produced using a specialist CAD package.
		  Describe the advantages to designers of using specialist CAD software when presenting 

new ideas to clients.	 [3]







Sticky Note
This question was specifically about modelling new ideas - different ways of presenting ideas and NOT about research and finding new ideas. Candidates did not read the question and therefore answered incorrectly. Acceptable answers include: presenting 3D models/drawings; manipulating digital images; creating different texts for embroidery; developing pattern repeats....



Sticky Note
This answer could refer to the use of any machinery so did not gain credit. Acceptable answers include: only certain materials can be cut as some melt or burn; lasers cutters can leave a black edge on some materials; materials have to be laid flat; material is limited to the size of the bed on the machine. In general answers were poor.

Sticky Note
Laser cutters offer great possibilities for innovative design which cannot be done either by hand or on other machinery - cutting very intricate and detailed designs; engraving complex designs; cutting materials and sealing edges to prevent fraying etc. The answer shown in this example is very simplistic with little understanding of the wider implications. 

Sticky Note
The candidate clearly understands the basic advantages of using CAD to present ideas to clients; in this case there is sufficient detail in the answer for the two marks awarded. The candidate would need to elaborate on WHY these points are an advantage to the designer for the extra mark. Well written answers that FULLY describe were rarely seen. Many answers referred to CAD packages being quicker and easier to change things; CAD is so much more than that!







Sticky Note
A good but simplistic response. The answer has not been FULLY explained.
If the candidate had added 'the designer does not need to travel to all these places as the information is easily available to them' then an additional mark would have been awarded. 'Explain' requires a fact and an elaboration of the fact. 

Sticky Note
This question is about modelling new ideas; how it can be used to develop and show new ideas. It is not about conducting research. Many candidates did not read the question correctly and therefore misunderstood it or did not even attempt an answer.

Sticky Note
CIM is not widely known. Correct answer: Computer Integrated Manufacture.



Sticky Note
The answer is clearly incorrect. Acceptable answers include: not all materials can be cut; some burn or melt; shiny surfaces cannot be cut; some materials are left with a black edge; size restricted to size of machine bed etc. 

Sticky Note
Limited understanding sufficient for one mark. The candidate has not demonstrated any knowledge of the wider and more innovative opportunities for design which are  seen throughout the textile industry in recent years. It is worth noting that the latter part of each question is set to test and stretch the more able candidate; answers need to demonstrate a clear body of knowledge in order to gain maximum marks.















Sticky Note
This candidate clearly understands how CAD can be used to present/develop/change ideas but fails to explain how this is advantageous to the designer. If the designer did not have access to CAD programmes, what then? The answer would then fully explain the advantages of using CAD to when presenting ideas to clients.







Sticky Note
This response does not answer the question as the stated answer could be arrived at through alternative means for example a shop survey. The answer needs to explain HOW the internet in particular makes research easier: access to a wide variety of material at the touch of a button; reduces the need to travel; access to information you would not otherwise have access to; contacting others for opinions on social media sites etc. 



Sticky Note
The answer is incorrect as it is not what the question is asking; the second point has not been explained in sufficient detail to gain any credit. Limitations associated with its use include: not all materials can be cut; some materials burn or melt; the laser can leave a black edge; size is restricted to the size of the machine.

Sticky Note
This question is about the potential laser cutters offer designers when designing and making textile products. Candidates need to consider what can be done on a laser cutter that couldn't have been done previously - cutting intricate design where edges do not fray; engraving designs etc.  In this instance it is not about cutting through several plies of materials as in lay planning. 

Sticky Note
Only one point made - 1 mark.
A basic response that only partially answers the question.
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SECTION B 
 


Question   
On 


paper 
Question 


Totals 
Running 
TOTAL 


5 (a)  No answer or incorrect answer 0-mark 
Only acceptable answer: 
INDUSTRIAL LOOM 


0 
 
1 


 
 


1 


 
 
1 


 


 (b) (i) No answer or incorrect answers – 0 mark  
Answers that clearly demonstrate an 
understanding of both production methods 
should be credited with up to two marks for 
each part question based on: 
MASS PRODUCTION – hundreds of 
thousands of identical items made 
continuously over a very long period of 
time; answer may include reference to 
production continuously over a 24 hour 
period; may include reference to simpler 
types of product.  
No marks for a description of the type of 
products being produced.  
BATCH PRODUCTION –smaller numbers 
of identical products made over a shorter 
period of time; answer could refer to 
seasonal products or designer ranges; 
answers may refer to slightly more complex 
products. 
No marks for a description of the type of 
products being produced.  


0    


   Award one mark for a simple statement for 
example: mass production refers to very 
large quantities of identical products being 
produced. 


1    


   Award two marks for a developed response 
for example: mass production refers to very 
large quantities of identical products 
produced over a long periods of time, 
possible several months/years with no 
major change in styling. 


2 2   


   Award one mark for a simple statement for 
example: batch production refers to a small 
number of identical products, possibly only 
a few hundred being made. 


1    


   Award two marks for a developed response 
for example: batch production refers to 
smaller numbers of identical products being 
made, possibly a few hundred or slightly 
fewer, over a short period of time – perhaps 
a few weeks or months. 


2 2   
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Question   
On 


paper 
Question 


Totals 
Running 
TOTAL 


  (ii) No answer or incorrect answer – 0 mark 0    


   Answers that indicate an understanding of 
the advantages of one-off production for the 
customer should be credited based on: 
exclusivity of the design; custom made; 
could be a statement piece/status symbol 
for the owner; can have some input into the 
style of the garment.  


 
 
 
 
 
 
 


   


   Award one mark for a simple statement for 
example: 
No-one else would have the same outfit. 


 
 
1 


   


   Award two marks for a developed response 
for example: the designer has made the 
dress just for one specific person and it is 
unique.  


2 2 6  
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Question   
On 


paper 
Question 


Totals 
Running 
TOTAL 


 (c)  No answer or an incorrect answer: 0 
mark 


0    


   Answers that show an understanding of 
the information found on a 
manufacturing specification and its 
importance to the manufacturer should 
be credited. Answers should be based 
on: tools and equipment needed; details 
of construction/processes involved; 
details of materials and components; a 
flow chart of the stages to make it; QC 
issues; working drawings with 
dimensions; timeline/gantt chart. 
Manufacturer needs to: order materials 
and components; care labels; organise 
workforce and machinery; plan future 
production; be aware of any issues with 
QC; know specific products details to 
make it correctly. 
Answers will vary according to the 
information the candidate provides but 
the information has to be specific and 
clearly show the importance to the 
manufacturer.  


    


   Award 1 mark for a simple response for 
example: the manufacturer needs to 
know what machinery is needed to make 
the item. 


1    


   Award 2 marks for a developed 
response for example: all the tools and 
equipment needed to make the item are 
listed so that the manufacturer can 
organise the factory.  


2    


   Award 3 marks for a fully developed 
response for example: all the tools and 
equipment needed to manufacture the 
item is listed which will enable the 
manufacture to plan ahead and organise 
this in the factory in time for production 
to begin. 


3 3 3  


      10 70 
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Question   
On 


paper 
Question 


Totals 
Running 
TOTAL 


6 (a) (i) No answer or does not identify the correct 
fibre source – 0 mark 


0    


   Only acceptable answers: 
REGENERATED 
SYNTHETIC 
NATURAL 
SYNTHETIC 


 
1 
1 
1 
1 


 
 
 
 


4 


  


  (ii) No answer or an answer that does not 
apply to blended fibres when making yarns 
– 0 mark 


0    


   Award one mark for a correct answer 
based on: to reduce the cost of the yarn; to 
improve the yarn by combining properties 
from both fibres. 


1 1   


  (iii) No answer or does not name appropriate 
fibre blend – 0 mark 
Award one mark for any of the following 
fibre blends: 
Polyester and cotton 
Wool and acrylic 


0 
 
 
 
 


1 


 
 
 
 
 


1 


 
 
 
 
 
6 


 


 (b) (i) No answer or the named property is not 
relevant or appropriate to the product for 
example: 
NYLON: durable; strong; poor absorption; 
resistant to sunlight; lightweight.  


1    


   Award one mark for an appropriate and 
relevant answer for example: it needs to 
be durable to withstand wear and tear 
when exposed to the elements.  


1 2   


  (ii) No answer or the named property is not 
relevant or appropriate to the product 
shown -0 mark 


0    


   Award one mark for a property that is 
appropriate for the pictured product for 
example: 
NEOPRENE: tough; flexible; 
rubber/padded 


1    


   Award one mark for an appropriate and 
relevant answer for example: neoprene 
has a flexible and rubbery inner layer 
which helps protect the product from 
damage. 


1 2 4  
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 (c) (i) No answer or answers are incorrect. 0    


   Award up to two marks for answers that clearly 
demonstrate an understanding of the term 
geotextiles based on: geotextiles are bonded or 
woven materials that have been specially 
developed for use in civil engineering, road 
construction and building; also used in 
agriculture for the protection of crops and help 
with drainage; geotextiles can be natural or 
manmade. 


    


   Award one mark for  a basic response for 
example: these are special textiles which have 
been produced for use in civil engineering. 


1    


   Award two marks for a fully developed response 
for example: these are bonded or woven 
materials that have been specifically developed 
for use in road construction, building and civil 
engineering. 


2 2   


  (ii) No answer or the answer does not relate to 
microencapsulation – 0 mark 


0    


   Award up to three marks for a clear 
understanding of the benefits of micro-
encapsulation when used in medical textiles 
based on: this process traps nano-sized 
particles (of antibacterial or medicinal agents) to 
fibres or fabrics which are released on contract 
or through friction; the slow release of various 
beneficial agents aids the healing process and 
reduces the need to keep changing dressings; 
may also reduce the risk of infection.  


    


   Award one mark for a basic response for 
example: antibacterial chemicals can be added 
to bandages to help with healing a wound. 


1    
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   Award two marks for a more developed 
response for example: antibacterial 
chemicals in bandages for example are 
slowly released which help the healing 
process and also avoids the need to keep 
changing dressings. 


    


   A fully developed response can be awarded 
three marks for example: Antibacterial or 
medicinal chemicals encapsulated into 
bandages for example, are slowly released 
over time which helps the healing process. It 
also reduces the need to keep changing 
dressings which could prevent further 
infections. 


3 3 5  


      15 85 
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8 (a) (i) No answer or the answer is incorrect – 0 mark  0    


   Only two correct answers: 
AIDED MANUFACTURE 
INTEGARATED MANUFACTURE  


 
1 
1 


 
 
2 


  


  (ii) No answer or an incorrect answer - 0 mark 0    


   Answers MUST be specific to modelling new 
ideas. 
Award 1 mark for each correct answer based on: 


 develop patterns and repeats; 


 change the scale of a design; 


 create different texts for embroidery; 


 manipulate digital images; 


 draft patterns; 


 present design ideas; 


 create and present 3D drawings. 
No marks to be awarded for unqualified 
assertions, e.g. quicker, easier, faster etc. 


 
 
 
1 
1 
1 


 
 
 
 
 
3 


  


  (iii) No answer or an incorrect answer – 0 mark 0    


   Answers that indicate an understanding should be 
given credit based on: access to a wide variety of 
information readily available; can collate 
information easily without the need to travel; can 
gain inspiration through looking at various 
websites; access to information they may not 
otherwise know about/ever find out about; can 
research topics once they have an idea; can 
contact others to gain information via various 
applications – email, twitter, facebook, forums for 
example.  
No marks to be awarded for unqualified 
assertions, e.g. Quicker, faster etc. 


    


   Award 1 mark for each simple statement for 
example: if they have an initial idea for a possible 
theme, a wide variety of material to help develop 
the idea is readily available. 


1    


   Award 2 marks for a more developed response 
for example: if they have an initial idea for a 
possible theme, a wide variety of material to 
develop that idea is readily available and can be 
researched in depth at little expense – no need to 
travel for further information as some designers 
do.  


2 2 7  
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 (b)  No answer or an answer that does not describe the 
advantage of specialist CAD packages - 0 mark 


0    


   Award up to 3 marks for answers based on: it’s a 
professional approach so the designs are clearly 
shown with all the fine details; ideas can be 
adapted instantly and evaluated; cuts down on 
development time rather than hand drawing ideas; 
once style is agreed colour ways can be presented 
and selected according to clients preferences 
instantly; some packages allow layering of colours 
which can indicate transparent materials; patterned 
materials can be scanned into the computer and 
included in the designs; print patterns can be 
scaled down onto the designs to see how they 
might work/ amend if necessary; whole virtual 
collections can be presented for discussion and 
further development, overall more impressive and 
realistic. 
Answers MUST show specific advantages to the 
designer. No marks to be awarded for 
unqualified assertions, e.g. Quicker, faster etc.  


    


   Award 1 mark for each simple statement for 
example: designs look more realistic which gives 
clients a better understanding of the ideas. 


1    


   Award 2 marks for a more developed response for 
example: it’s a more professional approach to 
present designs that look more realistic and it gives 
clients a better understanding of the ideas which 
might encourage them to buy the collection.  


2    


   Award 3 marks for a fully developed response for 
example: it’s a more professional approach to 
present designs that look more realistic, with all the 
details included and the ability to offer alternative 
colour ways; this gives clients a better 
understanding of the ideas which might encourage 
them to buy the collection which in turn is beneficial 
to the designer. 


 
 
 
 
 
 
 
3 


 
 
 
 
 
 
 
3 


 
 
 
 
 
 
 
3 


 







© WJEC CBAC Ltd. 


86 


 


Question   
On 


paper 
Question 


Totals 
Running 
TOTAL 


 (c) (i) No answer or an incorrect answer – 0 mark  0    


   Award up to three marks for answers based on: 
intricate and detailed designs can be cut into 
garment pieces/textile products which cannot be 
done by hand which in turn offers more scope for 
design; materials can be engraved, a process not 
really possible before laser cutters; materials cut on 
the laser cutter do not fray, so edges do not 
necessarily need to be neatened; component parts 
such as buttons or bag handles can be engraved/cut 
to match designs on other parts of the product much 
more easily. 
No marks to be awarded for unqualified 
assertions, e.g. Quicker, faster, easier etc. 


1    


   Award 1 mark a simple response for example: laser 
cutters offer more opportunities to cut designs out of 
materials or engrave them which was not possible 
before.  


    


   Award 2 marks for a more developed response for 
example: laser cutters can cut intricate designs out 
of materials which will not fray as the laser seals the 
edges; it can also engrave designs on the material 
which cannot be done by hand. 


2    


   Award 3 marks for a fully developed response for 
example: laser cutters can cut intricate designs out 
of materials which will not fray as the laser seals the 
edges; it can also engrave designs on the material. 
Both processes could not be done successfully by 
hand so it offers more creative scope for designers. 


3 3   


  (ii) No answer or an incorrect answer - 0 mark 0    


   Award up to two marks for answers based on: only 
certain types of materials can be cut or engraved – 
some will burn or melt; shiny metallic materials 
cannot be used; the laser can leave a black edge on 
the materials; only flat materials which can be laid 
flat can be cut; limited to size depending on the size 
of the machine.   


    


   Award one mark for a basic response for example: 
there is a limit to the type of materials that can be 
cut. 


1    


   Award two marks for a developed response for 
example: not all materials are suitable for use with 
the laser cutter as some materials such as PVC can 
burn or melt under the laser’s beam.  
 


2 2 5  


      15 120 
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